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1. What is the price at which average revenue equals average

variable cost, below which a firm will shut down in the short
run?

A. Shut down price
B. Break even price
C. Marginal cost
D. Normal profit

2. Which of the following describes a cost that changes with
production levels?

A. Total costs
B. Fixed costs
C. Average costs
D. Variable costs

3. Which period of production has all factors being variable?
A. Short run

B. Long run
C. Fixed run

D. Unlimited run

4. What does the law of diminishing average returns indicate?
A. Every additional unit always increases output
B. Output per unit of variable factor will eventually diminish
C. Marginal returns increase indefinitely
D. Fixed factors do not affect output

5. What type of efficiency is achieved when the price equals
the marginal cost in a market structure?

A. Allocative efficiency
B. Normal profits

C. Marginal cost pricing
D. Productive efficiency
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6. What primarily differentiates labor from other factors of
production?

A. It is a natural resource

B. It requires investment to create
C. It involves human effort and skills
D. It is managed by entrepreneurs

7. What does entrepreneurship represent in terms of factors
of production?

A. Physical goods created by investments
B. Risk-taking and organizational skills
C. Natural resources allocation

D. Labor productivity improvements

8. In a natural monopoly, a single firm is typically more
efficient due to:

A. Intense competition

B. Economies of scale

C. High market demand

D. Government intervention

9. What is the definition of unemployment?
A. People actively seeking work but unable to find employment
B. The total number of available jobs in an economy

C. The percentage of the labor force not participating in the job
market

D. The ratio of workers employed to available jobs

10. According to the law of supply, what happens when the
price of a good rises?

A. The quantity supplied decreases
B. The quantity supplied increases

C. The quantity demanded increases
D. The market equilibrium is reached
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1. What is the price at which average revenue equals average

variable cost, below which a firm will shut down in the short
run?

A. Shut down price

B. Break even price
C. Marginal cost
D. Normal profit

The price at which average revenue equals average variable cost is referred to as the shut
down price. This concept is critical in the short run decision-making process for firms
operating in perfectly competitive markets. When the market price falls below this level,
the firm is not able to cover its variable costs, meaning it would lose less money by
temporarily ceasing production than by continuing to operate at a loss. In contrast, the
break-even price occurs when total revenue equals total costs, allowing the firm to cover
both its variable and fixed costs without making a profit or incurring a loss. Therefore,
the break-even point is higher than the shut down price, as it includes fixed costs.
Marginal cost is a measure of the cost of producing one additional unit of output and
does not directly represent a price at which firms decide to shut down. While it plays a
role in determining production levels in relation to average revenue, it is not the price at
which a firm would choose to stop operating in the short run. Normal profit refers to a
situation where total revenues are equal to total costs, and it typically occurs at or above
the break-even price. Hence, this term does not align with the specific context of the shut
down condition, since it implies that the firm

2. Which of the following describes a cost that changes with
production levels?

A. Total costs
B. Fixed costs
C. Average costs
D. Variable costs

The correct choice identifies variable costs, which are expenses that fluctuate in direct
proportion to changes in production levels. As a business increases its production, it
needs more inputs—such as materials, labor, and utilities—resulting in higher total costs.
Conversely, when production decreases, these costs also drop correspondingly. Variable
costs are critical in understanding how a company manages its production and pricing
strategies, as they influence the marginal cost of producing additional units. They
provide insight into the operational flexibility of a company since these costs can be
adjusted based on production volume. In contrast, fixed costs remain constant
regardless of production levels. These include expenses like rent and salaries, which do
not change as output varies. Total costs, while encompassing both fixed and variable
costs, do not specifically address the costs that change with production, and average
costs are calculated per unit of output rather than being defined by their behavior in
relation to production levels.
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3. Which period of production has all factors being variable?
A. Short run
B. Long run

C. Fixed run
D. Unlimited run

In the context of production periods in economics, the long run is characterized by all
factors of production being variable. This means that a firm can adjust all inputs,
including capital and labor, to increase or decrease output. In this period, firms can
invest in new technologies, alter the size of their facilities, and modify their labor force
without any constraints. The long run contrasts with the short run, where at least one
factor of production is fixed, usually capital. In the short run, firms cannot change the
size of their production facilities or the amount of equipment they use, restricting their
ability to respond to changes in market demand. Understanding that in the long run, all
inputs can be varied allows firms the flexibility to optimize production processes and
achieve economies of scale. This period is essential for planning future growth and
adjusting to changes in industry conditions without being limited by current resources or
capabilities.

4. What does the law of diminishing average returns indicate?
A. Every additional unit always increases output

B. Output per unit of variable factor will eventually diminish
C. Marginal returns increase indefinitely

D. Fixed factors do not affect output

The law of diminishing average returns, also known as the law of diminishing returns,
suggests that as more units of a variable input (like labor) are added to a fixed factor of
production (like machinery or land), the additional output produced by each additional
unit of the variable input will eventually decrease after a certain point. This principle
reflects how, beyond a particular point of input, each new unit contributes less to output
than the previous unit. For example, if a factory employs more workers while keeping the
amount of machinery constant, initially, the output may increase significantly. However,
as more workers are added, they may start to crowd each other or have less machinery to
work with, leading to a situation where additional workers produce less and less
additional output. Understanding this concept is crucial in production theory and helps
explain why simply increasing labor or other variable inputs does not guarantee
proportionate increases in output. The correct answer accurately captures the essence of
this economic principle.
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5. What type of efficiency is achieved when the price equals
the marginal cost in a market structure?

A. Allocative efficiency

B. Normal profits
C. Marginal cost pricing
D. Productive efficiency

When the price equals the marginal cost in a market structure, allocative efficiency is
achieved. This condition indicates that the resources in the economy are being
distributed in such a way that maximizes total welfare. In other words, the prices reflect
the true value or benefit that consumers derive from the last unit of a good or service
produced. At this point, the amount consumers are willing to pay for a product matches
the cost of producing one additional unit of that product. This balance ensures that
resources are not wasted; if the price were above marginal cost, it would imply that
consumers value the product more than it costs to make, suggesting an opportunity for
increased production. Conversely, if the price is below marginal cost, it indicates that the
resources could be better allocated elsewhere. Normal profits refer to the minimum level
of profit necessary for a company to remain competitive in the market, while marginal
cost pricing specifically describes a pricing strategy rather than a type of efficiency.
Productive efficiency, on the other hand, occurs when goods are produced at the lowest
possible cost, which is distinct from the allocative efficiency attained through the
equalization of price and marginal cost. Thus, the correct context for the scenario
presented is indeed allocative efficiency.

6. What primarily differentiates labor from other factors of
production?

A. It is a natural resource

B. It requires investment to create
C. It involves human effort and skills
D. It is managed by entrepreneurs

The primary distinction of labor from other factors of production lies in its involvement
of human effort and skills. Labor encompasses the physical and mental contributions of
individuals to the production process. Unlike natural resources, which constitute raw
materials derived from the environment, labor involves the application of human
abilities, knowledge, and creativity. Additionally, when compared to other factors such
as capital, which may require investment for further production and refinement, labor is
unique in that it is inherently tied to human capability. This aspect includes not only the
physical strength needed for tasks but also specialized skills that enhance productivity
and efficiency. While entrepreneurs do manage and orchestrate these various factors of
production, the essence of labor itself is primarily defined by its human element, making
it fundamentally different from resources or capital, which do not have inherent human
qualities.
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7. What does entrepreneurship represent in terms of factors
of production?

A. Physical goods created by investments

B. Risk-taking and organizational skills
C. Natural resources allocation

D. Labor productivity improvements

Entrepreneurship, as a factor of production, embodies the skills and qualities that an
individual brings to the process of production, specifically risk-taking and organizational
skills. Entrepreneurs are innovators who identify opportunities and take the initiative to
create new products or services, organize resources, and manage the production process.
Their ability to combine labor, capital, and natural resources effectively while taking on
financial risks is critical for driving economic growth and fostering innovation. This is
why the aspect of risk-taking, coupled with the organizational capabilities necessary to
coordinate various inputs, is central to understanding the role of entrepreneurship in
production. Other options involve different factors of production: physical goods are
related to the output generated, natural resources pertain to land as a factor of
production, and labor productivity improvements focus on enhancing the efficiency of the
workforce rather than the entrepreneurial activities that drive the overall production
process. Thus, option B most accurately reflects the essence of entrepreneurship within
the context of factors of production.

8. In a natural monopoly, a single firm is typically more
efficient due to:

A. Intense competition
B. Economies of scale

C. High market demand
D. Government intervention

A natural monopoly occurs in a market where a single firm can produce the entire
market output at a lower cost than if multiple firms were to operate. This efficiency
arises primarily from economies of scale, which refer to the cost advantages that a firm
experiences as its production scale increases. In industries that are considered natural
monopolies, such as utilities (water, electricity, etc.), the fixed costs of infrastructure and
production are very high. As production expands, the average cost per unit decreases
because the firm can spread its fixed costs over a larger quantity of output. Thus, a single
firm can serve the entire market more efficiently than multiple firms, avoiding the
duplication of infrastructure and services. This ability to lower costs through increased
production is what makes a natural monopoly typically more efficient. In contrast,
intense competition often leads to inefficiencies in markets that are prone to natural
monopoly characteristics, as firms may not achieve the same economies of scale. High
market demand is a condition that can exist alongside a natural monopoly, but it does
not inherently create efficiency. Government intervention can shape the operation of
natural monopolies by regulating pricing or service, but it is not the reason why a single
firm in such a scenario is efficient.
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9. What is the definition of unemployment?

A. People actively seeking work but unable to find employment
B. The total number of available jobs in an economy

C. The percentage of the labor force not participating in the job
market

D. The ratio of workers employed to available jobs

The definition of unemployment is best described as people actively seeking work but
unable to find employment. This captures the essence of what unemployment represents
in economic terms. It specifically refers to those individuals who are part of the labor
force and are currently looking for jobs, meaning they are willing and able to work but
have not secured a position. Understanding this definition is critical because it
distinguishes unemployed individuals from those who are not in the labor force, such as
students, retirees, or those who have stopped looking for work. Option A reflects the
commonly accepted definition used by economists and organizations that measure labor
market conditions, such as national statistical agencies and the International Labour
Organization. The other options represent different economic concepts but do not
accurately summarize the definition of unemployment. For instance, defining
unemployment in terms of the total number of available jobs or the percentage of the
labor force not participating in the job market does not focus on those who are actively
seeking employment. Additionally, the ratio of workers employed to available jobs gives
insight into job availability rather than directly addressing unemployment.

10. According to the law of supply, what happens when the
price of a good rises?

A. The quantity supplied decreases
B. The quantity supplied increases

C. The quantity demanded increases
D. The market equilibrium is reached

The law of supply states that, all else being equal, an increase in the price of a good will
lead to an increase in the quantity supplied. This relationship is based on the incentive
for producers to supply more of a good when they can obtain a higher price for it. As the
price rises, existing producers are motivated by the potential for greater revenue and
profit, and new firms may also enter the market or increase their production as it
becomes more profitable to do so. In contrast, if the price were to fall, producers would
likely decrease the quantity they supply because the incentivizing factor of higher profits
would diminish. Hence, option B accurately captures the relationship outlined by the law
of supply, establishing that a rise in price results in an increase in quantity supplied.
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